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Calculus

Integration Quiz Review
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Evaluate each indefinite integral.

1)  ò (-6x + 8x-3) dx 2)  ò -9x-4 dx

3)  ò (-10x + 2 - 6x-3) dx 4)  ò (2 + 2x-2
 - 2x-3) dx

5)  ò (4x3 - 4x-2
 + 6x-4) dx 6)  ò 12x-5 dx

7)  ò
2

x
dx 8)  ò -5x-1 dx

9)  ò
5

x
dx 10)  ò -

1

x
dx

11)  ò -3sin x dx 12)  ò cos x dx
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13)  ò 3cos x dx 14)  ò 4cos x dx

Evaluate each indefinite integral.  Use the provided substitution.

15)  ò 8x(4x2 + 3)4 dx;  u = 4x2 + 3 16)  ò 25x4(5x5 - 1)5 dx;  u = 5x5 - 1

17)  ò 9x2(3x3 + 4)5 dx;  u = 3x3 + 4 18)  ò (5x3 + 2)4
 × 15x2 dx;  u = 5x3 + 2

Evaluate each indefinite integral.

19)  ò 12x3(3x4 + 4)5 dx 20)  ò 20x4(4x5 + 3)4 dx

21)  ò 4x3(x4 + 2)3 dx 22)  ò 5x4(x5 - 5)4 dx

23)  ò
8x
x2 + 2

dx 24)  ò
60x4

3x5 + 1
dx



©o Q2I0X1L6^ KKzuitfa\ nSQoifut]w\aXrMeN [LdL_CG.M b PAzlOl` mrFimgbhetssH Dr`ehsPelrQvLeAdk.s l yMRazdBej HwBi`tMhS IIYnCfbirnci_t\ez GCOablOcmujldutsm.

Worksheet by Kuta Software LLC

-3-

25)  ò -
30x

3x2 + 1
dx 26)  ò

4x3

x4 + 3
dx

27)  ò 8x3cos (2x4 - 3) dx 28)  ò 4xcos (x2 + 5) dx

29)  ò -24x2cos (2x3 + 5) dx 30)  ò 36x2cos (4x3 - 5) dx

Evaluate each definite integral.

31)  ò
-3

-1
3

x3
dx 32)  ò

-4

-1
2

x
dx

33)  ò
-1

0

-
3

(2x + 6)3
dx 34)  ò

-3

-1
2

x3
dx

35)  ò
1

2
4

x2
dx 36)  ò

-1

0

(-x3 + x2 - 2) dx



©Y l2^0U1T6n `KDuTtTaN SSsonf^tIwuakrqeq gLdLlCv.V x rAflPlO frqiBgbhVtms\ ZrSeTseeYrwvPeGd_.G D TMcaFdIeV ewTiWtZhe WI[nafgiknri[tieb LCtatlfcDuJlCuUss.

Worksheet by Kuta Software LLC

-4-

37)  ò
-1

4

(-x3 + 4x2 - 5) dx
38)  ò

-
p

6

p

6

-2sec x × tan x dx

39)  ò
1

4

(2x - 1) dx 40)  ò
-1

3

2x dx

For each problem, find the area under the curve over the given interval.

41)  y = x;  [2, 3] 42)  y = 
1

x2
;  [-4, -2]

43)  y = 3 x;  [3, 5] 44)  y = 
4

x2
;  [-3, -2]

For each problem, find the volume of the solid that results when the region enclosed by the
curves is revolved about the the x-axis.

45)  y = 
3
x ,  y = 0,  x = 1 46)  y = -x2

 + 1,  y = 0,  x = 0,  x = 1

47)  y = -x2
 + 4,  y = 0,  x = 0,  x = 2 48)  y = x2,  y = 0,  x = 1
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Answers to Integration Quiz Review

1)  -3x2 - 
4

x2
 + C 2)  

3

x3
 + C 3)  -5x2 + 2x + 

3

x2
 + C 4)  2x - 

2

x
 + 

1

x2
 + C

5)  x4 + 
4

x
 - 

2

x3
 + C 6)  -

3

x4
 + C

7)  2 ln x  + C 8)  -5 ln x  + C

9)  5 ln x  + C 10)  - ln x  + C 11)  3cos x + C 12)  sin x + C
13)  3sin x + C 14)  4sin x + C

15)  
1

5
(4x2 + 3)5 + C 16)  

1

6
(5x5 - 1)6 + C

17)  
1

6
(3x3 + 4)6 + C 18)  

1

5
(5x3 + 2)5 + C 19)  

1

6
(3x4 + 4)6 + C 20)  

1

5
(4x5 + 3)5 + C

21)  
1

4
(x4 + 2)4 + C 22)  

1

5
(x5 - 5)5 + C

23)  4 ln (x2 + 2) + C 24)  4 ln 3x5 + 1  + C

25)  -5 ln (3x2 + 1) + C 26)  ln (x4 + 3) + C 27)  sin (2x4 - 3) + C 28)  2sin (x2 + 5) + C
29)  -4sin (2x3 + 5) + C 30)  3sin (4x3 - 5) + C

31)  -
4

3
 » -1.333

32)  -2 ln 4 » -2.773
33)  -

5

192
 » -0.026 34)  -

8

9
 » -0.889

35)  2

36)  -
17

12
 » -1.417 37)  -

25

12
 » -2.083

38)  0 39)  12

40)  8
41)  ò

2

3

x dx

 = 
2(3 3 - 2 2)

3
 » 1.578

42)  ò
-4

-2
1

x2
dx

 = 
1

4
 = 0.25

43)  ò
3

5

3 x dx

 = 10 5 - 6 3 » 11.968

44)  ò
-3

-2
4

x2
dx

 = 
2

3
 » 0.667

45)  p ò
0

1

( 3
x)2
dx

 = 
3

5
p » 1.885

46)  p ò
0

1

(-x2
 + 1)2

dx

 = 
8

15
p » 1.676

47)  p ò
0

2

(-x2
 + 4)2

dx

 = 
256

15
p » 53.617

48)  p ò
0

1

(x2)2
dx

 = 
1

5
p » 0.628


